Hw /0
@ @PS&//'& W-ﬂg f:‘//% %ng'fﬁfﬁmx OE
0) Z imto Z
§) 7 into Z»Z
C> d*Z nte 2.

@ F/%&( o(/f Q&&(ﬁbﬂs 07{ Mé’ €fm¥r'cfh
DC'2+9C—6:0 % Fee f/'ﬂj_ Z/‘q (g# fﬁmﬁa//n%
fhe quadvahc  pofyaomi.

@ /C;/M( C(/f S-ﬂ%//l'wls af 7[& éf&(m{l‘on
2) x*+1xt4=0 in Zg .
£) 963'222’—3% =0 I} ij |
@ ;;/79/ %ff £fm’m/€r;'sl/‘c 072 7L/€ g/'yp}q f*,‘nj
5 Z 3
5 % 25‘ JFL ) ng Zg



-2 -
d) Zx2ZxZ | e) Z,x57 .

@ Li R fe a wommatative n’ndg wi'th un'ty
alp (ﬁmfamﬁm‘s#a = @/’f/éﬁ(f’ and S’ﬂﬂ/éé [df'tﬂg
for A, 6eR.

27,
é Show it He matrix [ L L | i< a
dvisor of aer0 in M1,(Z).

@ Answer each of the fﬁ{e’sa‘/‘ms %fdm
Pfﬁfﬁm 7 in fx%’ra'ggg /9 0157%’6 foog.

9{2/9//54 &/ our ansSwers oy ﬁ/‘ve aq feﬂﬂffﬁa{’
to the Corresponding  statemont in tlo Godk.

§ Useny Fermal's Hheorem fo Find  Hee
femm'}w(?r ot 37” \A/fm it 1 drvioled @, £

B lompate  V(43), where v /c the E4ey
/)f i~ Funiion.



e 3 =
@ @&C///e 844 cobyttrons f/f /ﬁéf/l/fn
wﬁfﬂ(’mw
4) 3€x =15 (modRY)

§) 36m =/ (moc 24)



